

$$1. \int \frac{3x \, dx}{(x-1)(x+2)} = \frac{A}{x-1} + \frac{B}{x+2} = \frac{A(x+2) + B(x-1)}{(x-1)(x+2)} =$$

$$3x = A(x+2) + B(x-1)$$

$$\text{let } x=1 \Rightarrow 3 = 3A \Rightarrow \boxed{A=1}$$

$$\text{let } x=-2 \Rightarrow -6 = -3B \Rightarrow \boxed{B=2}$$

$$\int \frac{3x \, dx}{(x-1)(x+2)} = \int \left(\frac{1}{x-1} + \frac{2}{x+2} \right) dx$$

$$= \ln|x-1| + 2 \ln|x+2| + C$$

$$= \ln|x-1|(x+2)^2 + C$$

$$2. \int_0^{\frac{3}{\sqrt{2}}} \frac{x^2 \, dx}{(9-x^2)^{\frac{3}{2}}} \quad \text{We let } x = 3 \sin \theta \Rightarrow dx = 3 \cos \theta \, d\theta$$

$$x = \frac{3}{\sqrt{2}} \Rightarrow \frac{3}{\sqrt{2}} = 3 \sin \theta \Rightarrow \theta = \frac{\pi}{4}$$

$$\int_0^{\frac{3}{\sqrt{2}}} \frac{x^2 \, dx}{(9-x^2)^{\frac{3}{2}}} = \int_0^{\frac{\pi}{4}} \frac{\sin^2 \theta (3 \cos \theta \, d\theta)}{(9-9 \sin^2 \theta)^{\frac{3}{2}}} \quad x=0 \Rightarrow \theta=0$$

$$= 27 \int_0^{\frac{\pi}{4}} \frac{\sin^2 \theta \cos \theta \, d\theta}{27 \cos^3 \theta} = \int_0^{\frac{\pi}{4}} \frac{\sin^2 \theta}{\cos^2 \theta} \, d\theta = \int_0^{\frac{\pi}{4}} \tan^2 \theta \, d\theta$$

$$= \int_0^{\frac{\pi}{4}} [\sec^2 \theta - 1] \, d\theta = \left[\tan \theta - \theta \right]_0^{\frac{\pi}{4}} = \left[\left(1 - \frac{\pi}{4}\right) - (0 - 0) \right] = 1 - \frac{\pi}{4}$$